KB FF ch R ENFE T 35 H #]

TMAFIATTR ()

1 Al #F X g = WMARE a &t M o

B % % & ke 417,500{ 152, 700 21,5001 591,700 F x| B F
k= A& | R E
F E & B % 2 B _ﬁ_” x fmo# (A * 7% E i
( kg ) = fE B % (B
( B % ]
WA 35,7001 10kg 1,512 - 1,188 — 864 —| EF diEE fth
FEIZA LA 28,390] 10kg 3,024 —[ 2,025 || 1,026 || dimE b
ZIES 2,945 300g 76 76 16 disE b
H% 34,790 15kg 1,728 1| 1,323 1 918 || K% 1t
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Elg 6,416 5kg 6, 588 5, 454 4,320 Wi K% b
EA—=x 3,968 5kg 5,724 || 4,698 || 3,672 || WwE MWL i
Ws L 1,827 300g 292 — 221 1 151 1| #&rbl
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